D.A.V. PUBLIC SCHOOL, NEW PANVEL

2025-2026
SUMMER HOLIDAY ASSIGNMENT
WORKSHEET
SUB: SOCIAL SCIENCE (ECONOMICS) STD: IX

STORY OF VILLAGE PALAMPUR

Q.1. Fixed capital does not include
a.tools b. machines c. buildings d. money in hand

Q.2. The Green Revolution took place in India in
a. late 1960s b. mid 1960s c. late 1970s d. early 1960s

Q.3.When more than one crop is grown on the same piece of land in a year, it is
called
a. crop rotation  b. multiple cropping  c. Kharif crop  d. Rabi crop

Q.4. Which of the following statements is correct about Green Revolution?
a. It enhances soil fertility b. It decreases soil fertility
c. It decreases production c. It does not need modern methods of farming.

Q.5. Consider the following statements and choose the correct option associated
with Palampur village.

a. In Palampur, about one-third of the 450 families are landless.

b. Fishing is the main production activity in Palampur.

c. Palampur is not well-connected with neighbouring villages and towns.

d. In Palampur there is no medical facilities.

Q. 6. This is the picture of agricultural farms in Palampur. Select the title that best
describes the picture.

Land of big and middle farmers
Unequal distribution of land in Palampur
Land distribution of small farmers

Equal distribution of land in Palampur
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Q.7. Assertion-Reason



Assertion: The Indian Government has set Rs. 200 per day ( March 2019) as the
minimum wage.

Reason: There is a competition for work among the farm labourers in Palampur, so
people agree to work for lower wage.

a) Both A and R are true and R is the correct explanation of A

b) Both A and R are true but R is not the correct explanation of A
c) Als correct but R is incorrect.

d) Aisincorrect but R is correct.

Q.8.Assertion: The farmers are able to grow three different crops in a year in
Palampur.
Reason: There is a well-developed system of irrigation.

a) Both A and R are true and R is the correct explanation of A

b) Both A and R are true but R is not the correct explanation of A
c) Als correct but R is incorrect.

d) Aisincorrect but R is correct.

Q.9. High light five differences between traditional and modern methods of farming
based on the factors given.

Factors Traditional Methods Modern Methods

I

Seeds

Irrigation

Fertilisers

Method of ploughing

Labour

Q.10. Read the source given below and answer the questions that follow:

In the future, one would like to see more non-farm production activities in the village.
Unlike farming, non-farm activities require little land. People with some amount of
capital can set up non-farm activities. How does one obtain this capital? One can either
use his own savings, but more often has to take a loan. It is important that loan be
available at low rate of interest so that even people without savings can start some
non-farm activity. Another thing which is essential for expansion of non-farm activities
is to have markets where the goods and services produced can be sold. In Palampur,
we saw the neighbouring villages, towns and cities provide the markets for milk,
jaggery. wheat, etc. As more villages get connected to towns and cities through good
roads, transport and telephone, it is possible that the opportunities for non-farm
activities in the village would increase in the coming years.

a. According to you, what may be the reason for preferring non-farm activities by
the people of the village in future?

b. How can a loan with low rate of interest help people to start non-farm activity?

c. Which are the markets for milk, jiggery and wheat that are produced in
Palampur?



